HW 1.3

8. Note that part (b) and part (c) are not the sorts of things one would normally say.
a)JIf an animal js a rabbit, then that animal hops. (Alternatively, every rabbit hops.)

b)l Every animal is a rabbit and hops,
c} There exists an animal such that if it js a rabbit, then it hops. (Note that this js trivially true, satisfed,

for example, by lions, so it is not. the sort of thing one would say.)
d) There exists an animal that is a rabbit and hops. (Alternatively, some rabbits hop. Alternatively, some

hopping animals are rabbits.)

E 33! a) Some system is open, b) Every system is sither malfunctionin i or in a diagnostic state.

i@ﬂomc system is open, or some system is in a diagnostic state. @ Some system is unavailable.
GJ. No s:,rsj:em is working. (We could also say “Every system is not working,” as long as we understood that
this is different from “Not every system is working.")

43.‘[&} This is lalse, since there are many values of & that make @ > 1 lrue.

h) This is false, since there are two values of = that make x% =1 true.
©) This is Lrue, since by algelra we see that the unique solution Lo the equation is o = 3.

d} This is false, since there are no values of © that make & =z + 1 trus.



